Compare the two advertisements below. Then match the correct negatzve preﬁxes 3
with the adjectives below. Now pretend you are writing an email to your friend
explaining which car you would like to buy. Use all of the adjectives with negative
prefixes to describe both cars in your email. Then share your pretend email with a

partner ¢ and see zf you chose the same car for the same reasons.
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Small popular car drives like new Fun family car that is larger but

slower
z;ngmn:
“The Beetle” “The Van®
- $1,800 or best offer - $1,500 (cash only)
- Uses less gas - Fits 9 people
Car may be older than 5 years Must stop driving every
S May be less if people are bigger YA two hours Y,

Which car did you choose?

Because the advertisement for
the Beetle looked dishonest.
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VA Learning English

Negative prefixes Adjectives
in honest
dis comfortable
non expensive
un safe
V4
To: @myfriend.com

Subject: My choice of car

Bobth cars are Lnex?ensive.
Ruk
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